Proving Angle Relationships Notes
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Ifm&1 = m«2, then %1 = &2,
If«1 = 42, then m¥1 = m«2.

Angle Addition Postulate:
If R is in the interior of «PQS, then m%PQR + m<«RQS = m«PQS.
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If m«PQR + maRQS = m«PQS, then R s in the interior of <PQS. e
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Supplement Theorem: If two angles form a linear pair then they are supplementary.
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':i : i If «1 and <2 form a linear pair, then m«1 + m«2 = 180.
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Complement Theorem: If the noncommon sides of two adjacent angles form a right
angle, then the angles are complementary.
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‘a ﬁ” y IfGF 1 GH, then m<3 + m4 =90,
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Vertical Angles Theorem: If two angles are vertical angles then they are congruent.
Theorems:

e Angles supplementary to the same angle or to congruent angles are congruent.
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B /) 3 If «1 and %2 are supplementary to 43, then «1 = «2
o E " Abbreviation: («'s suppl. to same < or = «’s are &)

e Angles complementary to the same angle or to congruent angles are congruent.
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If «4 and 45 are complementary to %6, then %4 = %5 A i } VR
Abbreviation: (s compl. to same < or = <'s are =) M &P 8



Examples:

Find the measure of each numbered angle.
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mib = Gx,mL08 = 4x + §,
' iy ms11 = 11z,
mLT = 62 + 67155 meg= 10~ 13 mZ12 = 10x + 10
el X=0 %= 1ox+)
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Lox); \20 \&D mM< S = 30 X=10
X = 2 < = 20 mcit = 110
Complete each proof. me 7 = o Mg (e = 110
mM{E = (0O iy = 110
i
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Prove: LABC = 2. DBE
Statementis Rensons
L ZABC and LCBD are complementary, | 1L 7 .
/DBE and £CBD form a right angle. Qiven
2. LDBE end LCBD are complementary. 3 UOYY\()%QNY\?J”‘\' Heovem
LADC® L1BE 8.4 Conp o saume
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Given: AB L BC;

Z1 and 28 are
complementary. b
Prove: /2= /3 .
Statements Reasons
a.AB 1LBC & Given -
b.{ARC 1S O | b Definition of L
MEE <_0ddtio. post
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. Given: 21 and 22

form a linear pair.
mil + mi8 = 180
Prove: £2 &= /3
Statements Reasons
a. 21 and 22 form & Given
a linear peir.
msl +mdS = 180 °
b.'és \C 5!!?!?, ﬁ b. Suppl
c. 21 is suppl. o (ef_of Supp.
to £8.
d /A% 3 d. 4 suppl. to the

same Z are =,
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